é}_) Rotatable Top Mounted

Vertical Outlet

ARMENDUS ( Tepe Montaj Modiili Dik Cikig )

SUPPORT ARM & ENCLOSURE SYSTEMS.

TS EN 50085-1
TS EN [EC 61439-1

WARRANTY

Sari renkli banti ¢ikariniz. Yapiskan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with adhesive
surface inside.)

www.armendus.com

Kutu icerigi $§§
Product Box Content

ox (UM M6 x 30
7x ([ M6x25

1x m M6 x 20
g M6 x 12 (Loctite)
1x WA M5x20
12x
1x
1x
4x
2 Profili ok yoninde igeri dogru yerlestiriniz.
( Insert the profile into the coupling as shown in the picture

below. )




3 Profil civatalarini takiniz. 1 Frenleme pimini, bilye ve yayi yuvasina takiniz.
( Tighten the profile bolts )

(Insert the metal ball, the spring and the plastic stopper pin
into their sockets. )

i
05x13vay/ .

@5 Bilye

2 6x8
M6x30 (x4)

J6.4 (x4)

civata ile sinirlandirabilirsiniz. Modil Gzerinde
Note: the plastic stopper pin and the Set screw should be esit araliklarla sekiz adet delik bulunmaktadir.
placed inside the same hole Dénus sinirlarini istege bagh olarak 2 adet
civata ile de yapabilirsiniz.

5 Setskur Montaij E Dikkat: Modiilin sag sol déniglerini M6X10

Attention:

You can limit the right-left rotations of the module with
M6X10 bolts. There are eight holes at equal intervals
on the module. You can optionally set the rotation
limits with two bolts

M5x20 (x1)

www.armendus.com




7 ModUlU parca igine yerlestin ve civatalarini takin. 8 Montaijin sekildeki gibi yapildigini kontrol ediniz.

(Insert the module into the part and tighten the bolts.) (Check that the assembly is done as shown in picture)

M6x12 (x8) (Loctite)

9 Ust grubu alt tabla ile birlestirin.

(Combine the assembled top unit and bofttom part fogether)

1 0 Baglanti civatalarini takiniz.
(Tighten the connection bolts.)

M6x25 (x7)
M6x20 (x1)

www.armendus.com




1

Dikkat: Givenli bir konfigirasyon igin topraklama
baglantisini takmayi unutmayiniz.

Caution: Do not forget to fix the grounding for a safe
connection.

Sari renkli banti ¢cikariniz. Yapigkan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with the adhesive
surface inside)

M4 x 8

Siyah plastik koruma kapaklarini M8 Zemin baglanti
civatalari Gzerine takiniz.

M8 Zemin baglanti civatalan kutu igerigine dahil
degildir.

(Place the black covers on top of the M8 bolt heads. )
(M8 (x4) Bolts are not included in the box. )

www.armendus.com

delik dlcileri.
(Bolt connection holes and cable hole dimensions on the
panel if required for assembly )

1 1 Montaqj igin gereken civata baglantilari ve kablo gegis

90.00

90.00



